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= 3,321,400 4,338,000 21,016,600
J| 4,283,170 4,763,670 A 480,500
< 5,000 5,500 A 500
s 4,724,044 4,874,662 A 150,618
St 2 (=2 SE3/H) 12,333,614 13,981,832 A 1,648,218
= 3,321,400 4,338,000 A1,016,600
J| 4,283,170 4,763,670 A 480,500
< 5,000 5,500 A 500
s 4,724,044 4,874,662 A 150,618
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J| 2,428,670 2,428,670 0
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401 AIEBIZ 2 CHYI 78,350 99,000 A 20,650
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01 AL ESH SHI 66,347 80,000 A 13,653
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J| 424,500 551,000 A 126,500
401 A& HIZ 201 I 424,500 551,000 N 126,500
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OFot IS SH+H2IAE &R AL
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2 824,000 824,000 0
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427,036 +6,000n 2,562,216 4,040,216 A 1,478,000
2 1,735,216 2,770,216 ~1,035,000
gl 662,000 1,016,000 354,000
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